Technician B Plumber



Which of the following is the task of Pipe Vice?

a) To hold the pipe

b) To open the Pipe

None of the above

)
)
c) To join the pipe
d)

fafeRad A T Uisy a5y &1 S HI9T 8idT 87

a) U3 Bl UHaH]
b) UTZU &I Wil
c) UI3U &l SISl

d) TR B g!




Surface gauge is which type of tool?

a) Threading
b) Marking
c) Machining
d) Tapping

Y IS FRHfaRad # T fg UeR 371 VR 872




Trammel 1s which type of tool?

a) Threading
b) Marking
c) Machining
d) Tapping

oHd [ UHR BT 3R &2

a)a'%'r[
b) HTfHIT

d) cfth



If metal is hard, then RPM of drill is kept

a) Very High
b) Normal
c) High

d) Low

gfe UTq 3HIE HoR gl i fed BT MRUTH (RPM) DI W1 1dl 87

a) §gd 3H(%d
b) THRUT

c) 3HiUh

d) hH



Internal size of a water tank is 1.5 m x 1 m x 1m. How much maximum water can

be stored in it ?

a) 1000 litre
b) 750 litre
c) 150 litre
d) 1500 litre

TH UHIBI CHI BITHAT 15 mx 1 mx 1m ¢ | S99 e dq fdar aet 1=1
W ghdl g ?

a) 1000 litre
by 750 litre
c) 150 litre
d) 1500 litre



The fixing height of wash basin i1s normally

a) 100 cm
b) 120 cm
¢) 60 cm
d) 80 cm

aY-IRA P SIS, ARG gt el

a) 100 cm
b) 120 cm
c) 60 cm
d) 80 cm



Joints of Soldering generally

a) Normal

b) Loose

c) Strong

d) None of the above

I & Sl Hafid wu 9 gId g

a) HMHY
b) ard

d) SAH Y P Tl



To Increase the pressure area of nut, it is used with

a) Washer
b) Screw

c¢) Force
d) Grease

Ac %1 ¢a1d &9 g & fod Iy | ST ST B |

a) dIRR
b) B

c) Nfad
d) U



Drilling machine which works without electricity called as?

a) Pneumatic Drilling Machine
b) Stationary Drilling Machine
c) Portable Drilling Machine
d) None of the above

foT fooTett & e arelt fSfeiT #=itF &1 o1 F81 9raT 872



Brass is an alloy of which of the following metal?

a) Copper and tin
b) Lead and zinc
c) Copper and silver

d) Copper and zinc

s 9 1 9 fhae! fy urg 82

a) PR AR o7
b) TS 3R feT
C) Wﬁ?ﬁﬁ?
d) PR AR ik



High pressure welding gas is a mixture of

a) Oxygen and acetylene

b) Acetylene and carbon dioxide
¢) a & bboth

d) None of the above

TR URR AR T &1 Ay gt &

a) ST iR T

b) THIETH 3R BT SZAH TS
C) a 3R b g

d) ST A FI Ta!




In pipe distribution drain valve is placed ?

a) On junction
b) On summit
c) On lower joint

d) Anywhere

Uy SRR A ST dled &l 10T &d &2

a) SRl TR
b) TE ™

C) ﬁaﬁﬁﬁgm
d) el Ut



The hardness that can be removed by boiling is called as

a) Temporary hardness
b) Permanent hardness

¢) Toughness

d) Softness

SI3eT & SIRY gl ST Wb+ dTell g9 (SIUH) B! Pl Jdl 8

a) SR BT84
b) TRHTT BTe-d
C) THT
d) MY



For heavy flow, Hydraulically economic section is

a) Circular shaped
b) V-Shaped

c) Rectangular shaped
d) Oval shaped

IS UdTE ¥ oy, grgiciidel fbprad Jaw gl gl

a) IHR (GUIPR)
b) V-3HIHhIR dlefl
c) AHMEdIDPR

d) 3Had 3MHR




Surface area of a sphere 1s?

a) 1/3 nr?
b) 4/3 nr?
c) 4mnr
d) 4nr

U Tl b1 Tda! &A% § ?

a) 1/3 mr?
b) 4/3 nr?
c) 4nr?

d) 4nr



Cement Concrete 18

a) Good in Tension
b) Weak in Compression
c) Good in Compression

d) Good in both Compression and Tension

dicsiple ?I
a) ¢YHEH 3]
b) P H HHAR

) BIURE T 33T
d) PIFRTE 3R I T U Y 33T



T fitting is used for

a) Branch off at 90 degree
b) Branch off at 60 degree
c) Branch off at 30 degree
d) Branch off at 45 degree

A BRI I P W Ears|

a) 90 &9l R §i9-3(%
b) 60 f&Ut WR s -3
) 30 fSU R siw 3w
d) 45 &9 R -3



GI pipe has a coating of

a) TNi/Zinc
b) dlS/Lead
c) Reavsilver

d) TIAHETH/Aluminium

GIURUR e el

a)ﬁi$
b) g
C) e
d) T



valve permits a liquid or gas to flow in one direction

a) Float valve
b) Glob valve
c) Gate valve

d) Check valve

dTed el O1 19 ) Ueh fx & yareld o &t 3fid aar @

a) TRIIC dicd
b) TdId dled
) TIe dled

d) o dled



In single stack vent

a) Soil waste is removed from dirty water and separate discharge
b) All dirt and waste is removed through a single pipe
c) Only dirty water is discharged
d) Only soil waste is discharged
RiTTel ¥eb de Reea d

a) IS & R HI 7ic U § 3T fESwrS! forat Sran @

b) T FR P RiTTa R a1al Uy A S far Sar 8
¢) had 71 Ut 81 fSEars foan a8

d) Had el & HeR DI (ST (64T STl §



Trade name of polytetrafluoroethylene is

a)

b)

c) Teflon
)

d) None of the above

gifereCTHRIRIS e T SUTuRT A

b) UIUI3IR
C) <HAH
d) STH I I3 Tl

3



Asbestos cement sewer 1s ?

a) Highly susceptible to corrosion by sulphuric acid

b) Not structurally strong to bear large compressive stress
c) Light in weight

d) All of the above

e Hec R gdg?

a) P 3T HERUI & feru 3if Haggial

b) S HUIeS d1d Bl g+ B & (oY TRTIAHD ¥4 H Holgd o|
C) lﬂ?ﬁ%ﬁ

d) SURIGT g




In a drainage system is an inspection chamber

a) Septic tank

b) Manhole

c) Gully tap

d) All of the above

TH S Jurel! H, U®H SUHIH IFR g1 8|

d) IWIgd g4



Plumber solder is prepared by mixing and Tin

a) Brass
b) Lead
¢) Solder
d) Pants

TR ey 3R fe faarer auR fan Sirar g

a) Ulda
b) oS
c:)?ﬁﬁ':'\r
d) Uc



What type of thread is made on pipe?

a) BSP
b) BSW
c) BA
d) BP

sy R fog UhR &1 Ug/€ IdT g ?

a) BSP
b) BSW
c) BA
d) BP



One Pascal (Pa) is equal to

a)
b)
c)
d)

1 N/m?2
1 Kg/cm?
1 N/cm?

1 N/mm?

Uh U (Pa)

IR gIdl o

a) 1 N/m?

b) 1Kg/cm?

c) 1N/cm?

d) 1 N/mm?



If the PH of water is above 7, the water is

a) Acidic
b) Alkaline
¢) Neutral
d) Saltish

e S BT PH 7 4 S| &1, af oidd g g



Solder for Potable, water pipe is free from

a) Copper
b) Zinc

c) Lead
d) Metal

09 O &1 UTsUl & fg Aicsy _ Had g1

a) dlHl
b) fSie
c) 2igl]

d) g



Which of the following is the part of centrifugal Pump?

a) Casing

b) Impeller

c) Diffuser

d) All of the above

fAfafafea ® o a1 ST U BT TP HRT B ?

a)w
b) IR

o TR
d) IURiad HT



In any pipe procedure to remove the trapped air in a pipe and filling it completely

with water 1s called ?

a) Priming

b) Tightening
c) Taping

d) Boosting

fobafl UTSU A il g3 891 Dl FdbTd B B! Quid: Sfc H HRA DI HIT DI
R HBA 3

a) WRHT

b) BRI

¢) <ft

d) gfen



Personal safety refers to?

a)
b)
c)
d)

Hand protection
Foot protection
Head protection

Whole Body protection

AfGRTd R&T ¥ Hefid Har g2

a) BT DI R&m
b) TR I gRef
C) ﬁfﬁﬁﬂ?&ﬂ
d) X YRR BT GREM



Which of the following types of pipes are used for green building projects?

a) PVC

b) Zinc platted pipe
c) Polypropylene pipe
d) Asbestos pipe

fAEfeiRad YR & urgy § ¥ fobaes uan Ui fafesT ulkdismnsi & fore giar
87

a) tﬂ'd:"i:ﬁtl'lgq

b) S d¢ (Sidh PIcs) TSy

c) Uiferdifg= ugu

d) TWEY Ugy




Add the following fractions
1/4, 1/8, 3/16, 1/2

a) 17/16
b) 16/17
c) 19/16
d) 20/16

< €10 77T 3= &I e
1/4, 1/8, 3/16, 1/2

a) 17/16
b) 16/17
c) 19/16
d) 20/16



5% of 5% of 2000

a) 5
b) 1
c) 0.5
d) 50

2000 PT 5% PT 5%

a) 5
b) 1
c) 0.5
d) 50



If one sofa is bought for Rs. 4000. For how much shall it sell to get profit of
15%?

a) 4500
b) 4600
c) 5000
d) 5500

3R TS BT 4000 TYY H TSI SAT 81 15% BT ATH U B3 & e 39
foa | <=1 SrE 2

a) 4500
b) ¥ 4600
c¢) ¥ 5000
d) %5500



Use of steel pipes in the water supply system is preferred due to

a) Low budget
b) Non-availability of other pipes
c) Pipes can be subjected to very high pressure

d) Low diameter pipes

fohg HRUT Y S 3Lt JuIrelt & Wid Uy &1 SUTNT [T SR ¥ WG
CRISIGI

a) PH duic

b) 3= UISUl B SUcTel

¢) UTSU §gd 3= ga1d & 31¢fiH 8l 9&hd §

d) & I U3y



Which of the following fittings is used to connect two pipes with each other?

a) Tee

b) Connector

c) Elbow

d) All of the above

frafefed o 9 fog i &1 39 & usdl @ Teh gER & 91 Siie- &
fore fopar Srar 82

a) 6|

b) PR

) Tedl

d) SWRied gHt



Which of the following fittings is used to connect four pipes?

a) Offset
b) Union
c) Cross
d) Reducer

IR UIgUl Y st & fore fFafefaa o 3 farg i o1 Sua fasar sman
87

a) 3T

b) G

c) hiH

d) Regw



What is the suitable pitch of hacksaw blade used for cutting conduit and thin
tubing?

a) 1.8mm
b) 1.4 mm
c) 1.2mm

d) 0.8 mm

qIe® ATl (Pledse) 3R Udell cgfeiT died & faT Iugi frw o= ardt
Pl &te DI Iugad fUd &1 82

a) 1.8 mm
b) 1.4 mm
c) 1.2 mm

d) 0.8 mm



What 1s the formation on 1ron and steel caused by moisture and oxidation in

atmospheric condition?

a) Scaling
b) Rusting
c) Pitting

d) Erosion

graraRuy fRUfT & 76t 3R 3TRNH0T B BRI AT 3R T TR R
fAwtor grar 82

a) TH T
b)
o) fafdw
d) Perd (FRISH)



What is the formation deposited on pipes, due to hardness of water?

a) Scaling
b) Rusting
c) Pitting

d) Erosion

Ul ) SRl b PRI UISUI UR SHT 814 aTdT 716+ T 872

a) TH T
b) IR
C) fofdw
d) erd (FRISH)



Which type of fitting is used for easy to disassemble and repair?

a) Nipple
b) Coupling
¢) Union

d) Reducer

&l B 3R TRAd B 3R B & folE fhg UaR B Uit &1 Iugi
foraT ST 82

a)ﬁm'ﬂ
b) HUfe
C) gﬁm
d) RETR



Which material 1s used to join C.I. pipes?

a) lead
b) Molten rubber

c) Brass

d) Zinc

C.|. UTST & Siied & foru foog I} &1 IuanT fasar Sirar g2

a) das
b) fUael g3 ISR
C) dida
d) fSie



What colour is painted on oxygen cylinder?

a) Maroon colour
b) Red colour

c) Black colour

d) Yellow colour

TR RIdE} IR I 1 17 foar S1ar g2

a) ﬁﬁ?’ﬂ
b) T AT
c) BTl AT
d) dierm &



What is the minimum compressive strength of first-class bricks?

a) 120 kg/cm?2
b) 115 kg/em2
¢) 110 kg/em2
d) 105 kg/em2

YT A0 DI 3¢ B YIdH Yule Qfad a1 82

a) 120 kg/cm?2
b) 115 kg/cm?2
c) 110 kg/cm2
d) 105 kg/cm2



Which is the grade of ordinary Portland cement conforming IS 12269?

a) 33 grade
b) 43 grade
c) 53 grade
d) 63 grade

YR Uidals THe BT IS IS 12269 P P BT 87

a) 33 grade
b) 43 grade
¢) 53 grade
d) 63 grade



What is swaging?

a) Same diameter pipes joined with fittings

b) Same diameter pipes joined without fittings

c) Different diameter pipes joined with fittings

d) Different diameter pipes joined without fittings
AT T 57

a) THM O o U1yl & T¢I T ITANT B el
b) THH TN & UIsYl & fo1 fisfewg Sre
c) faf¥rs sy & UrSul ! fhfeT T IUART HXdh Sl

d)

faftrs oorg & urs i o1 fo1 ftefdrg ST



What is the name of symbol as per [.S?

a) Stop valve
b) Safety valve

¢c) Mixing valve

d) Pump

1.S. P ITIR Uclieh T ATH T 82

a) WIJ dled
b) YT dled
c) HIRT areq



What is the reason for drop in gauge pressure during pressure testing of flare

joint?
a) Leak
b) Buckle
¢) Dent
d) Bent

TR & 2aTd UI&0T & SR IS UIR & fRTIC BT R RO ?

a) ﬂﬂ:ﬂ(ﬁ’lﬁ
b) dhdl

C) %E(Tl_gl)
d) de



Which pipe is used for carrying cold and hot water?

a) Poly propylene

b) Low density poly ethylene

c) High density poly ethylene

d) Poly propylene random co-polymer

1 3R TH Ul & WM & fow g urgy o1 Ium fhan Sirar 82

a) Uldl WU

b) HH Y9 Uldt T

¢) 3 Y Ulelt YT

d) Uici Ui 389 &l-Tiferar




What is the temperature range of heating tools used in plastic welding process?

a) 50to 100°C

b) 200 to 370°C
c) 400 to470°C
d) 600 to 670°C

Wed AfeeT Ufdhar H Ugad SUSBRU GHfeHT & dTIHI ST 3T 87

a) 50 to 100°C

b) 200 to 370°C
c) 400 to 470°C
d) 600 to 670°C



What is the name of fitting that has threads on both sides of the central part?
a) Nipple
b) Plug

c) Cap
d) None of the above

3 TOTET T 19 &1 § o Hed HRT & il 3R AT (JfSai) gt 82

a) fAaa

b) Wil

C) %H

d) IWRI H Y Pig i Tl



Which type of joint is suitable for joining large size PVC pipes with valve?

a) Flare joint
b) Flanged joint
c) Brazed joint

d) Compression joint

dicd & 1Y §8 Ul Uigy i Slig 634 o folY fhd UhR &1 §ig Iugdd
&7

a) TR Sige

b) el Sigc
SEERSICIED

d) e (@A) Sige




What is the purpose of Osmoscope test?

a) To test turbidity
b) To test temperature
¢) To test odour

d) To test colour

TR Y URIEHUT BT I T 87

a) HATYT T URI&0] 31 & fag
b) dTUH BT URI&0T H & ferg
c) T BT Ueu e & forg
d) T H U0 HH & forg



Which meter i1s used to measure the colour of water?

a) Thermometer
b) Tinto meter
¢) Monometer

d) Hydrometer

g} &7 37 7109 & forw foog Hiex &1 v foba irar 82

a) YHTHeY

b) fel Hiex
C) 7 Hiex
d) BIESMHICY



Which chemical solvent is used to remove grease in solvent cement joints of
PVC?

a) Sulphuric acid

b) Nitric acid

c) Methylene chloride
d) Hydrogen chloride

Uididt & faamas dive Siel | 919 &1 geH & fot fog Iamafe faaas
T YA foba ST 82

a) AP TS

b) i TS

¢) AN FIRISS
d) BTSN FRTSS



Which test is to find the hardness of water?

a) Physical test
b) Chemical test
c) Bacteriological test

d) Zeolite test

U ) HARAT BT Udl T & fold I T URI&0T 872

a) Hifd® Wi (fhioed )
b) I T

¢) SEIRAIANTG e

d) frsfiarge aieon



Which process is used to remove the calcium and magnesium in hard water?

a) Lime soda process
b) Zeolite process
¢) Demineralisation process

d) Reverse osmosis process

BHOR I H HieRgH 3R AW &) gem & foru g ufesar o1 v
ERISIGI

a) @I3H ISt Ufdhar

b) TSI3fieise ufshar

) Sl-TFRIARSRH Ufhdr
d) s SRy ufdar



Which water supply distribution system is suitable for towns growing irregularly?

a) Radial system
b) Grid iron system
c) Circle or ring system

d) Tree or dead end system

S Ut ST STyft faa=or yomedt 8 Sifafid & U ¥ ¢ 3@ el & o1y
UG ©?

a) Ieud Red

b) fre MR+ RieH
C) god I1 1 Ren
d) dlarss s fRed



What is the name of joint shown in picture?

a) Bend

b) Offset

c) Double bend
d) Reducer elbow

Wsc &1 MM IdT ?

b) 3B AT
c) SIA NS

d) ISR Teall




Chain pipe wrench is used for pipes having diameter from

a) Oto 12 mm

b) 12 to 25 mm
c) 25 to 50 mm
d) 50 to 150 mm

o4 Ursy " &1 U fhyg =g are ursal & forw fobar Siar 8 .

a) Oto 12 mm

b) 12 to 25 mm
c) 25to 50 mm
d) 50 to 150 mm



Which of the following is not used to connect two pipes?

a) Coupling
b) Reducer
¢) Union

d) Caps

FafeRad ® ¥ ! IUTRT &l Urigdl & Siig & ot =181 fdear SiTdl 872

a)Eﬁqf%'iTl
b) ST

c)gﬁﬂ:[
d) P



Which of the following is used to connect two pipes with different diameter?

a) Reducer
b) Union
c) Coupling
d) Caps

fFafoiRad # T feasT SUanT Sl urgdl & -3 A & 1Y SeH &
foru fopar Sirar 87

a) @R
o) G
c) HUCHT
d) B



Reciprocating type pump is

a) Displacement pump
b) Centrifugal pump
c) Airlift pumps

d) None of the above

Muisfcnuy @



Pump is used to deliver water from deep wells or shafts?

a) Submersible pump
b) Reciprocating pump
¢) Mono-block pump

d) None of the above

_ Y HIIUINT oY Sl A1 e B | U uga o for fosan S 82

a) eHRiad Uy
b) YRIUIGIET Uy
c) HHI-sId Ug
d) IWRIFd H q Plg gl



The point angle of general purpose drill is degree?

a) 118 degree
b) 140 degree
c) 90 degree
d) 60 degree

I TS fga prag< o feifi e

a) 118 degree
b) 140 degree
c) 90 degree
d) 60 degree



1HP=

a) 1 kw
b) 1.5 kw
¢) 0.75 kw
d) 0.5 kw

a) 1kw

b) 1.5 kw
c) 0.75 kw
d) 0.5 kw



Sum of four angles of rectangle is degree?

a) 90°
b) 180°
c) 270°
d) 360°

AP AR PO pram SR Eaee
a) 90°
b) 180°
c) 270°
d) 360°



Unit of heat 1s ?

a) Centigrade
b) Kelvin
c) Fahrenheit
d) Calorie




For inspection of internal thread of pipe is used?

a) Thread plug gauge
b) Thread ring gauge
c) Filler gauge

d) Radius gauge

Uy & 3fale It & e & fow T SUTNT fobaT ST 82

a) S WIS
b) IS RIS
c) PR TS
RESS RIS



valve is provided at the bottom of suction pipe for holding the water in

the suction pipe.

a) Flush valve
b) Foot valve
c) Float valve

d) Safety valve

oM sy H UMt W G & ol Ia=E UIsy & aaH dred fear
T8I

a) UciR[ dled
b) e aled
c) UdIC dled
d) Ut dred



Which is used to remove the pinning of the files?

a) File card

b) Wire strip
¢) Plain brush
d) Nylon brush

Wil & U Bl geM & o forgesT IuaT far Sirar 82

a) IEd Bls
b) AR WU
c) Mlal §Xl

d) A S



Which marking media give very clear lines but take more time for drying?

a) Copper sulphate
b) Cellulose lacquer
c) Prussian blue

d) White wash

B T 3h1 HIfSYT 95 WY 18 &l 8 fcbT @ H il Tr Al
87

a) HIR Jhe
b) Tgarel A
c) YRITA s
d) ®ISC Al



Why hacksaw blade is moved slowly at finishing of cut?

a) Improve cutting action
b) Prevent breakage of blade
¢) Avoid job damage

d) To prevent damage of hacksaw frame

eh Yl &I DI He WH s & IAY R R-¢fR i I Siar g2

a) HIc DI fobdl T GUR HAT
b) &S P ¢ Pl §AM &b [T
c) SId &l JH UM gdMH & g

d) 8HYI % Bl JHIH I g9 & fau




What is the localised formation as cavities or pores on stainless steel due to salty

water condition?

a) Scaling
b) Rusting
c) Pitting

d) Erosion

DI (@R UMl D FRUTT & BRI T Td H RIS S8 W
Pfaca a1 gl &1 AT 819 o ufshar am 82

a) Th Tl
b) ST T

o) fafem

d) Held (SSH)




Which flexible material is heated and spread over bedding or walls for water

proofing?

a) Copper sheet
b) Bitumen

¢) Bricks

d) Granite

for g Tl TRl @ TH S SfST R a7 SaR| IR drex Ik o forg
ST ST 27

a) Y U

b) SMHI

c) 3¢

d) UIEC



Which flux is used for soldering refrigeration fittings?

a) Fallow

b) Phosphoric

¢) Hydrochloric acid
d) Alcohol and resin

ITPoREA fhfdT &l Hiver ® & AT f59 e &1 SuanT fbar Srdr 82

a)tﬁﬁ}f
b) WITHIND

c) TIRSIFIRD IS
d) SHTehigid 3R I




valve 1s used to accurately control the flow of water.

a) Gate valve
b) Globe valve
¢) Check valve

d) Non-return valve

dTed BT IUART UHT o UdTe &l It w4 I AdEd & & fore
ERISIGIE]

a) TI¢ dled
b) IS dled
c) dP dlcd
d) AM-Red areg



Y5 inch pipe thread has thread per inch.

a) 12
b) 14
¢) 16
d) 8

Y, 39 & UISU B ol A ESIRYCECIERIE
a) 12
b) 14

d) 8



1s used for temporary pipe lines.

a) Socket and spigot joint
b) Flanged joint
c) Expansion joint

d) Flexible joint

T TN R U1y arsl & forw fosan S 8|

a) ik AR AATe Wige
b) ThoiSS ligc

c) THRUMRH Sfize

d) TTd Sise




1s used to automatically shut off the water supply to tank, when water

level reaches the pre-determined level.

a) Relief valve
b) Float valve
c) Safety valve
d) None of these

H1 IUTNT b | THT D1 SMMYfd DI WATd ¥ 9§ 8¢ B3 & g
fopa ST B, 519 Ut &1 ¥R g MTRd Wk d@ Ugd ol g

a) Rfdw areay
b) Ul aled

c) U ared

d) STH AP Tel



is used to remove the accumulated air from the pipe.

a) Air removal valve
b) Air relief valve
¢) Air escape valve

d) Safety valve

g1y 3§ IfId ga1 &l Fdbrem & forw BT ITINT foar ST 2|

a) g [HHH dled
b) A g dled

c) TR T&hU dlcd
d) & dled




Size of A3 drawing sheet 1s

a) 297 mm X 420 mm
b) 210 mm X 297 mm
c) 594 mm X 420 mm
d) 1188 mm X 840 mm

A3 STET =i &1 AT (3THR)

a) 297 mm X420 mm
b) 210 mm X 297 mm
c) 594 mm X 420 mm
d) 1188 mm X 840 mm

gl



Volume of cylinder having 4 cm diameter and 7 cm length is cm3.

a) 88
b) 352
c) 44
d) 28

4 QH AT 3R 7 VT TS ITe S BT A qH1 g

a) 88
b) 352
c) 44
d) 28



In a right angle triangle ABC, angle C measure 90 degree, then edge is

hypotenuse.

a) AB
b) BC
c) CA
d) None of the above

wmﬁuﬁmcﬁ,mcmm%%ﬁ%ﬁrw Gaui]



The picture shows

a) P Trap
b) S Trap
c) L Trap
d) Q Trap




Unit of Power i1s

a) Volt
b) Watt
¢) Ampere

d) Kilogram

Options :



Picture shows symbol of

—

a) Reducer
b) Cap
c) Tee joint

d) Union



EE| BT Udie fe@rdr g1

a) ﬁ_eilﬁ?/Reducer
b) a?q/Cap

c) EP[GiIEEE/Teejoint
d) ﬁfaltl:l/Union

Picture shows symbol of

—|—

a) Cap

b) Reducer
c) Plug

d) Union
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—i|—

a) G|
b) YSER

c) W

d) gHa



Picture shows symbol of

a) Union
b) Plug
c) Reducer Concentric

d) Reduce Eccentric
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a)qﬁw

b) T

d) RemRdds



Picture shows symbol of

Bend 45°
Bend 90°
Elbow 45°
Elbow 90°
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a) d845°
b) dS90°
c) UWadl 45
d) Tesl90°



Picture shows symbol of

a) Tee
b) Elbow 90°

c) Cross
d) Elbow 45°
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a) |
b) Tedl 90°
c) g

d) Tcdl 45°



Picture shows symbol of

'._

a) Elbow 90°
b) Bend 90°
¢) Elbow 45°
d) Bend 45°
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a) UWadl 90°
b) &S 90°
c) Uedl45°
d dE45°



Picture shows symbol of

a) Elbow 90°
b) Bend 90°
¢) Elbow 45°
d) Bend 45°
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a) Uedl 90°
b) Teal 90°
c) DigHl 45°
d o8 45°



Picture Shows symbol of

a) Cross
b) Elbow
¢) Bend
d) Tee
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M

Minimum reading of steel rule is

a) 0.5 mm
b) 2.0 mm
¢) 1.0 mm

d) None of the above
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a) 0.5 foreT

b) 2.0 fHH
c) 1.0 fodt
d) IWIad H Y BIs ol

1.62m = cm.

a) 16.20
b) 162

c) 1620
d) 16200



1.62 m = cm

a) 16.20
b) 162

c) 1620
d) 16200

Perimeter of a circle having radius of 7cm 1s

a) 22 cm
b) 44 cm
c) 66 cm
d) 154 cm




7cm 341 9Tt Teh g T GRATT

a)
b)
c)

d)

22 cm
44 cm
66 cm
154 cm

Chisel 1s made from

a) Mild steel

b) High carbon steel
c) High speed steel
d) Tungsten steel

material.

Bl
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a) WIS XId
b) I BT K

&) Bﬁmﬁﬁ
d) TIReH KId

is used for closing the pipe which has internal thread.

a) Coupling
b) Reducer
¢) Plug
d) Cap
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a)  HUT
b) TSI
¢ T
d PU





